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PHYSICS

An ideal fluid is flowing in a pipe in streamline
flow. Pipe has maximum and minimum diameter
of 6.4 cm and 4.8 cm respectively. Find out the

ratio of minimum to maximum velocity.

81 9
(1) o5 @ =
3 3
@ 5 @ 2

82
Find the dimension of —

2,
(1) ML T2 (2) ML2 T2
(3) ML T2 (4) ML-2 T

Choose the correct P-V graph of ideal gas for

given V-T graph.
V A

(1) z (2

P

|
P
@) | B @)
I z y \"4

In full scale deflection current in galvanometer of
100 Q resistance is 1 mA. Resistance required in

series to convert it into voltmeter of range 10 V.

(1) 0.99 KQ
(3) 9.8 KQ

(2) 9.9 KQ
(4) 10 KQ

A screw gauge advances by 3mm in 6 rotations.

There are 50 divisions on circular scale. Find

least count of screw gauge?
(1) 0.002 cm (2) 0.001 cm
(3) 0.01 cm (4) 0.02 cm
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1.

2,

T aeel g fhdl Al # gN yare wu ¥ 98
TE1 B | Aforet @ sifdean dun gAaw @ HE:
6.4cm TAT 4.8cm B, T LATH W AAHTH I BT
AT = BN |

81
L
M 256 16

@ 3

B2 .
—— P faw =a B |
21

(1) ML~ T2
(3) ML= T2

(2) ML2 T-2
(4) ML=2 T

e N B fow V-T Ry fear ™ g @1 399
I P-V 9% sasy |
V¢ oz

gRrATd et wfoRig 100 Q8 # ifdead W
P U URT 1mARI 39 10 VIR & diceHler |
e & fou oofiss 4 smavgs ufiRig wm@
BT |

(1) 0.99 KQ
(3) 9.8 KQ

(2) 9.9 KQ
(4) 10 KQ

TP W A9 6 IHU UX 3mm I 98 B | I
T W 50 WM 3| BRI B SfAaHid  HId
Nl

(1) 0.002 cm
(3) 0.01 cm

(2) 0.001 cm
(4) 0.02 cm
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A particle of mass 'm' and charge 'Q' is
accelerated in cyclotron. If magnetic field is 'B'
and radius of cyclotron is r then find the kinetic

energy of the particle.

QBr Q°Br
1) — 2
M 2m @ 2m
Q2822 Q’B2r2
(3) > (4)
m m

Three blocks A, B and C are in equilibrium. If
string is cut between block A and B then
calculate acceleration of block 'B' just after
cutting the string.

(Mo (2) 15 m/s? upward
(3) 15 m/s2downward  (4) 30 m/s2 upward

A fresh radioactive sample is given att = 0. Its
1 4
decay fraction are gat t1 instant and 5 at t2

instant. its means life is -

t, -t
1 2 1
M fn2

t, —t t, -t
3 2 1 4 2 1
@ 2 @ 2t

t, -t
2 2 1
@ (n4

In the following diagram if V2 > V1 then -

\ (photoelectric current)

S
Az
M
' Vi (photoelectric %
current)
(1) A= \/?t2 (2) A< 2
(3) A= A2 (4) M1> A2
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6. TH 'm' TAN qAT 'Q' AQY BT HY ASFASH H

@Rd fbar wrr 8| afe geag &3 'B' 8 d
ArsFAgE @ Brear r & a1 s @ fas ot
T dR —

QBr Q’B?r
(1) = (2) o
2022 202 2
3) Q°B“r (4) Q°B“r
2m m

A wife A, B den C aramaxen & 8| afk «dife A
g B @& @ o = 3 de I o a@r =
P PBle B SIb 9§ wiB B B RO B! MU
T

(1o (2) 15 m/s2HUR B 3R
(3) 15 m/s2 I &t 3R (4) 30 m/s2 HUR B 3R

T e AAwHI Tt = 0 W I w2

WH@HWHWW%%HW&WW

g%|mma¢q%—

t, -t t, -t
1 2 1 %) 2 1
) {n2 @) {n4
t, —t t, -t
3 2 1 4 2 1
@ 2 @ 2

. = R A afe o> veEL A

4 (T fga em)
i
—
A2
A
V2 V1 (w ﬁgﬂ wfV

(1) 1= Jhy (2) M < A2
(3) M= A2 (4) A1> A2
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10.

1.

12

13.

An organ pipe open at one end is vibrating in
first overtone and is in resonance with another
pipe open at both ends and vibrating in third
harmonic. The ratio of length of two pipes is -
(13:8 (2)8:3

(3)1:2 4)4:1

For a series RLC circuit R = XL = 2Xc. The
impedance of the circuit and phase difference
(between) V and | will be :-

(1) @,tanq(a @) @,tarﬂ GJ

(3) V5X,tan™"(2)  (4) ﬁR,tan'(%]

Two identical square rods of metal are welded
end to end as shown in figure (1). Assume that
10 cal of heat flows through the rods in 2 min.
Now the rods are welded as shown in figure. (2)
The time it would take for 10 cal to flow through
the rods now, is -

100°C
100°c9C
0°C
/
C)] (b)
(1) 0.75 min (2) 0.5 min
(3) 1.5 min (4) 1 min

A jar is filled with two non-mixing liquids 1 and 2
having densities p1 and pz, respectively. A solid
ball, made of a material of density ps, is dropped
in the jar. It comes to equilibrium in the position
shown in the figure. Which of the following is true

for p1, p2 and p3?

(2) p1 < pz2< p3
(4) pa<pi< p2

(1) p1>p3>p2
(3) p1<p3< p2
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10. vs JfFfH udu &t te RR A gem B ued
ARERS H P PR Tl © dA I8 a R |
el TAT [ FARI § F~ PR B P MY
UIgy & HIT IS § B | A1 UISUl Pl G B

T & -
(1)3:8 (2)8:3
(3)1:2 (4)4:1

11. & RLC #vft uRuzr § R = X. = 2Xc uRuy &t
uforemen vg VeiR | & 1459 FolluR © -

L 2) @,tarﬂ [1]

1
(1) T.tan (2) :
(3) V5 X, tan™"(2) (4) JgR,tan‘1[%J

12.9¢ @ ¥ THR B RN | MW g1 (1)
2 firie 3§ 10 B Fw yaiRd B ¥ | o9 B
(2) RETgER W ot & @ s R 10 A

TS yaifed 89 § I R |
100°C

100°c

0°C
/
(a) (b)

(1) 0.75 min (2) 0.5 min
(3) 1.5 min (4) 1 min

13. v IR @1 1 AfHseli gaf 19 2@ A1 =a
g SHHSE p1 9 pz B, WX WAl B p ©F ATl
el ¥ g TS O g @l IR § FRmE o 2
g o A quiE ¥ Rufy & ammaRen # o wrh
Bl p1, p2d pa® fog f=r & & dim A 272

(2) pr<pz2< ps3
(4) ps<p1< p2

(1) p1> pa>p2
(B)p1<pa< p2
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14.

15.

16.

17.

Change in internal energy of the given mass of
gas, when the volume changes from V to 2V at

constant pressure p is -

R v
" @
(3) 1Y) (4) pv

L~

The RI of prism for a monochromatic wave is

«/Eand its refracting angle is 60°. For minimum
deviation, the angle of incidence will be

(1) 30° (2) 45°

(3) 60° (4) 75°

A charged ball B hangs from a silk thread S,
which makes an angle 6 with a larger charged
conducting sheet P, as shown in the figure. The
surface charge density o of the sheet is

proportional to

+
i

+ |0

1\

+

-

B

(1) sin©6 (2)tan ©
(3) cos 6 (4) cot 6

A slab of material of dielectric constant K has the
same area as the plates of a parallel palate

capacitor but has a thickness (%]d where d is

the separation of the plates. The ratio of the
capacitance C (in the presence of the dielectric)
to the capacitance Co (in the absence of the

dielectric) is
3K 3
1 2) —K
o K+4 @ 4
4K 4
3 4) —K
& K+3 @ 3
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14. 23 T g B N &1 aRe Hul § gRacH

15.

16.

17.

1 § 9 19 g9 P WR egad V¥ 2V @ d9d

ST 28—

R PV
= @ 2
(3) 1&V) (4) pv

l-y

I THGT AUITDIOT 60° B | A fawes &
forg smuaE ®roT Brm-

(1) 30° (2) 45°

(3) 60° (4) 75°

T SMARG 5 B Ydh YW @ 91 S| ofcd W& B
S RATER & o= JaRd ade 88 P & |

0PIV TARN B | TS B TS Y TG ¢ 714 &
HATUT 2—

+
P,

« |8

Tl o\s

ZT

&

B

(1) sin 6 (2) tan 6
(3) cos 6 (4) cot 6

TP K WRIIEie arel ugref 31 ufecd w1 aawd
Th AR T WUIRT & 9EE & Afh aAmrR

Wﬂmﬁaaﬁmfjdidlﬁe’i‘cﬁﬁw@

4
2| aiRar C (wrdgga @ SuRefa #) &1 enRar Co
(TR @ rguiRerfa #) § orgu B
3K 3
(ﬂm (2) ZK
4K 4
® % @3k
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18.

19.

20.

Two long thin conductors ABC and DEF are
arranged as shown in figure. The resultant

magnetic field at O due to them is —

G
(1) Mo (2) zero
4nd
Mol Hol
By L0 4
e B J2nd

The angular speed of the electron in the nt" orbit
of Bohr's hydrogen atom is

(1) Inversely proportional to n

(2) Inversely proportional to \/r_1
(3) Inversely proportional to n2

(4) Inversely proportional to n3

Find out mechanical advantage in given figure.

@ @
(1) 23 (3)2 @1
AVIRAL CLASSES
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18 Rz % Tw¥guR &1 &% udel @t ABC 9 DEF
AR 2| 93 HRU O IR URUHl g &3
i

I
= d
l "
AT g o E | D
I J- d—>
¢
(1) Bl (2) 7=
4nd
Mol Mol
3) — 4
®) o @) J2nd

19. IR & gsgioM WA B n di B H golagA ol
Do are

(1) n & FopATgUTT B 7 |

(2) Vn & gopuarguRD B 2|

(3) n2 & AT B B |

(4) 3@ YEHATIUT B 8 |

20. feu U o=t ® aifses oy 9 wifeg)

. F

P @
4 @3 (3)2 @ 1
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INTEGER TYPE

21,

The current 'i' in the given circuit is -

0.x A. Where value of x is

22. There is a electric circuit as shown in the figure.

Find potential difference between points

aand b. is 2x volt, where value of x is

10kQ
A
10kQ
ar—WW——b
10k9§
|
30V

23. If the ratio of the intensity of two coherent
sources is 4 the
[(Imax = Imin)/ (Imax + Imin)] Of the fringes is

then visibility

4 :
< where value of x is

24. Three plates of common surfaces area A are
connected as shown. The effective capacitance

will be :-
d
A B
d
X& A where value of x is
d

25,

A thin metal ring of radius r and mass m is
resting on a liquid. Surface tension of the liquid

is.

mg
Xmr

£

where value of x is
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21, 3 ™ yRuy & gmr '2 0.X A.

el X &I 99 &

2Q

| |
v
22, feprgar uRug § ve faga o 81 Rgei a qen
b #e fawarr @ & | 2x volt ¢,
el X & 91 &

10k
10kQ
a —WW—— b
10kQE
I
30V

23. I I TN TEE T B A BT AR 4 B
ar bl @ FIIAT [(Imax — Imin)/ (Imax + Imin)] B

4 "
— Wlgl X &I 99 &
X

24, SIS IO gAwd A B 9F wIT SRR
1 & | ywrdr enfar grfi-

25.r 391 42 m TAN @Y UF Ul Hiad g

A RRm A T p g g & 18

XTr

el X &I 99 &
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26.

27.

28.

29,

30..

CHEMISTRY

Which is incorrect statement?

(1) In NaCl structure, tetrahedral voids are
unoccupied

(2) In ZnS structure, octahedral voids are
unoccupied

(3) In CaFz structure, all tetrahedral voids are
occupied

(4) In Na20 structure, all tetrahedral voids are

unoccupied

On adding 1 g arsenic to 80 g benzene, the
freezing point of benzene is lowered by 0.19°C.
The formula of arsenic is (Kr = 5.08 K kg mol-')
(Atomic mass of Arsenic = 74.92)

(1) As (2) Asz

(3) Ass (4) Ass

The following data is for the reaction between A
and B is first order w.r.t. A and zero order w.r.t.

B. Then what are the values of X and Y

respectively?
Exp | [A] [B] Initial rate
mol/L | mol/L | mol L'm~!
I oA o1 [2x107
Il X 0.2 4 x 1072
] 0.4 0.4 Y

(1)0.2,0.4 (2) 0.2,0.08
(3)0.8,0.2 (4)04,0.2
Which of the following complex cannot absorb
visible light
(1) [Cr(NHs)e]Cls
(2) [Fe(CN)sNOJSO4

(3) Ks[Fe(CN)s]
(4) [Sc(H20)(NH3)3]Cls

Decreasing order of Ao of the following complex
is

(1) [Cr(NO2)6]*>~ > [Cr(NH3)e]** > [Cr(H20)e]%*

(2) [Cr(H20)6]** > [Cr(NHa)s]** > [Cr(NO2)e]*~

(3) [Cr(NHa)e]?* < [Cr(NO2)s]3- < [Cr(H20)6]%*

(4) [Cr(NHs)e]** > [Cr(H20)s]** < [Cr(NO2)e*-

AVIRAL CLASSES
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26. /1 # | P9 FUH TAd B
(1) NaCl §v= # Tgshaad Rah @reflt exil &
(2) ZnS TRA # ICHAB Rah @ref gt &
(3) CaF,dwaaT # Wil agwhord Rad ¥ B
8
(4) Naz0 ®¥a1 # 99 agehardy R&l @l
&

27.1 9 RIS B 80 W dwiH H A R,
Ivoi9 &1 ¥ 0.19°C &9 8 Wl 8| amifae
@1 gA 8 (Kr = 5.08 K kg mol-') (3if& &1

AT R = 74.92)
(1) As (2) As2
(3) Asa (4) Ass

28. A Tem B & [y Ifufhan @ forw m=faRaa aes
RO T € A® G o U¥ do1 B3 He¥ # I
Bife @ Afafhar 8 X denY & 99 S 8 ?

Exp | [A] [B] Initial rate
mol/L | mol/L | mol L™'m™!

| 0.1 0.1 2 %102

I X 0.2 4 x 102

0Nl 0.4 0.4 Y

(1) 0.2, 0.4 (2) 0.2, 0.08
(3) 0.8, 0.2 (4) 0.4, 0.2
29. =7 9§ | DI HR UBIY BT AT T DY
| B ?

(1) [Cr(NHa)e]Cl3

(2) [Fe(CN)sNOJSOs
(3) Ka[Fe(CN)g]

(4) [Sc(H20)(NH3)3]Cls

30. 1 gl @l Ao @ Ted gU HH § gaierd
P —

(1) [Cr(NO2)s]*~ > [Cr(NH3)s]3* > [Cr(H20)6]3*
(2) [Cr(Hz0)6l* > [Cr(NHa)e]** > [Cr(NO2)e]*-
(3) [Cr(NH3)s]** < [Cr(NO2)e]* < [Cr(H20)s]**
(4) [Cr(NHs)6]** > [Cr(H20)6]** < [Cr(NO3)e]*
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31.

32.

33.

34.

(a) Cyanide process
(b) Froth floatation process
(c) Electrolytic reduction

(d) Zone refining

One of the following molecule is not present in
hydrolysis product of XeF2

(1) Xe (2) 02

(3) HF (4) XeOs

TiCls is a good oxidising agent due to
(1)
()
(3)

lonisation energy of Tl is high
Electronegative order is Al < Ga < In < Tl

Its stable oxidation state is +1 due to inert
pair effect

(4) Larger atomic size of Tl

Potential difference of electrical double layer
formed in a colloidal solution is called :

(1) Zeta potential

(2) Brownian potential

(3) Dorn potential

(4) Nernst potential

Match

Column Il and assign the correct code :

items of Column | with the items of
Column-I Column-Il
i) Ultrapure Ge
ii) Dressing of ZnS
iii) Extraction of Al

iv) Extraction of Au

N e

v) Purification of Ni

Code :

(a) (b) () (d)

(1) (iv) (ii) (iii) 0]

(2) (i) (iii) (i) (v)

(3) (@) (ii) (iii) (iv)

(4) (i) (iv) (V) (i)
CH3 CECH
I 11

35. The effect of benzene ring in compound (I) and

(I1) will be respectively
(1)
(2) T and +1
(3) +I and +I
(4) +HC and -1

+I and -1

AVIRAL CLASSES
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31.

32.

33.

34.

(b)
()
(d)

XeF> & W1 398eq gRT /41 9 ¥ U IdIE A8

T B |
(1) Xe (2) Oz
(3) HF (4) XeOs

TiCl3 T e Sifaiiarl &HE &

(1) TI® Iz AT g & SR

(2) fagga=evrn &1 %9 Al<Ga<In<TI

(3) oifhy I ywE@ & BRU HD AfHTH
T SifRITHROT Srawer +1 8l B

(4) TI @ rARD WA AHER B B HROT

PIogSa faeed d 9gaE fTwa # "9 S
favarR & ded &

(1) Sfrer fava

(2) srsfrae fawa

(3) S fasa

(4) T fawa

W | B Sooi Bl WY Il B Soog I e |

BS

35.

8l gha ugfha © :

-1 = -l
TS S UshH (i) orfgE Ge
ST @i fag (i) ZnS &1 gHaEH
faga sruees suedd (i) Al @1 frspyo
Sl URSHRI (iv) Au BT fspreor

(v) Ni®T e

(a) (b) (c) (d)
(1) (iv) (if) (iii) (i)

(2) (i) (iii) () (v)
3 0 (ii) (iii) (iv)
(4) (i) (iv) v) (i)

CH3 CECH

I Il
I Ig gaed A (1) T (1) F HHE: T B
(1) +1 Fer -1
(2) —I T +1

(3) +1 FT +1

(4) +HC @er I
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36.

Which of the following compounds does not

shown tautomerism ?

(1) NHz—ﬁ—N Hz (2 NHz—ﬁ—N H2

S

O
3 HO{Oy-N=0 () (CHs):0

@
CH-MgBr B H;O

37. HO-C~CH,-C—H A 59
iy

(2) CHs—CH-OH

(4) CHsC~CH;
CH;,

38. 2@%;\&3%0?
2

G
(1) CHy—CH-NH,
(3) CHx-C~CH,

39.

i | |
i (ii)(gn/H20= (A) 2LNOWA, B) What will be B’

o) @)
H
(" )J\/\g/ o T W
i H H
w XX

Ja ™7

40. Dry heating of calcium acetate gives
(1) Acetaldehyde (2) Ethane
(3) Acetic acid (4) Acetone
41. | Glucose and mannose are
(1) Epimers
(2) Anomers

(3) Ketohexoses

(4) Disaccharides

AVIRAL CLASSES
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2

36. /1 # & B e TeTagaar T8 S & ?

(1) NH—C—NHz  (2) NH:—G—NH;

S

@]
(3) HO—@N=O (4) (CHs)20

A | r ao@
37, HO-C-CH,~C-H .
?HS C|:H3
(1) CHz—CH-NH, (2) CHs—CH-OH
(3) CHa—%—CHa (4) CH3—(I%—CH3
CH>
0
' OH HCN LiAIH
38. 2©—A)A —*B —)H204 c?

OH NH,

QO CH,~NH,
D CHNH, O CHNH:
@) ) C}O

Os .. DiINaOH/A_ .
39. l:”/ D) Znns-izo'(A) ——»(B) 'B' 8T

(@]
H
@)
o]

0
(2)E|J\H
H H
N i
@) O
Bfedad THIce & Y&H AEIT W U Bl 2

(1) wifrsegs (2) &
(3) uhHfes ora (4) Thie

40.

41. | EHS g A B
(1) TirR

(2) TR

(3) PIcTEHTS
(4) STERBUTEH
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42,

43.

In the reaction

PCis NH; NaBrO

CH,COOH

x4) XB) (C).
the final product (C) is
(1) Ammonium acetate (2) Acetamide

(3) Methyl amine (4) Ethanal

Reimer-Tiemann reaction involves a
(1) Carbonium ion intermediate

(2) Carbene intermediate

(3) Carbanion intermediate

(4) Free radical intermediate

44, The standard reduction potential of Zn2*/Zn,

45.

Cu?*/Cu and Ag*/Ag are respectively —0.76, 0.34

and 0.8 V the following cells were constructed

(i) Zn|Zn2+

Cu**|Cu

(ii) Zn|2n2+

Ag'|Ag

(i) Cu|Cu2+

Ag'|Ag

What is the correct order E,, of these cells ?

()i > i > i
() ii > i > il
(3) i > i > il
() iii > i > ii

For a reaction, 2NHsz — N2 + 3H2 , it is given that

_dINH,] _ dN,]
dt dt

gl
dt

ka[NHa], =ko[NHs] ~ and

= ks[NHg], then ki1, k2 and ks can be

related as

(1) k1=kz2=ks

(2) 2k1 = 3kz = Bk
(3) 2k1 = ka2 = 3ks
(4) 3k1 = 6ka = 2ks

AVIRAL CLASSES
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o

42,

43.

44,

45.

rfafepar #

CH,COOH —2% 54y M3 yp) NBiO o)
aifm saE (C) R

(1) s wiice ARGICEIFS

(3) #fereT T (4) T

IR e aifwfsrar # wffera &
(1) Sratfm s Aeadt

(2) ®rEiE Hegad

(3) HTEATARIS WegaRil

(4) 3ot i Feaad

Zn2*/Zn, Cu2*/Cu T Ag*'/Ag & WM& 3Uad+
fawa &1 A9 e -0.76, 0.34 92m 0.8 V & ==
Tl gaT B

(i) Zn‘Zn2+

Cu*|Cu

(i) Zn‘Zn2+

Ag'|Ag
Ag”|Ag

¥ Selt &1 Eg, B 98 B9 a7 & 2

(iii) Cu’Cu2+

(1) i > i > i
@) ii > i > il
(3) i > i > i

(@) i > i > i

ffrar 2NHs — N2 + 3Hz & forg arfafssar @ ==

_ dINH,]

/1 & g1 @ 8 B o

= k1[NHs],

%=k2[NH3] SR

ks ¥ WE! G BT

d[H,]

T= ks[NH3] T9 k1, ko 7T

(1) k1 =ka = ks

(2) 2k1 = 3k2 = 6ks
(3) 2k1 = k2 = 3ks
(4) 3k1 = 6k2 = 2ks
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46.

47.

48.

49,

50.
P

i) (G Sl

b

INTEGER TYPE

Find Out D.B.E (Double Bond Equivalent) or
Degree of unsaturation in following compound

NH
0

=

total structural isomer of C,H, /N ?

How many Wi

The number of geometrical isomer in

e 0 %

The possible number of optically active
isomers in [Cr(en),CL,]® is :-

In P,O,; How many P-O-P bonds are

resent ?

AVIRAL CLASSES |

CREATING SCHOLARS

46.

47,

48.

49,

fed & <iftes 4 D.B.E (fgs+41 gonis) &1 D.U
(ST 1 ife) Bt |
NH

=

C,H, N & el o = ers qoraeet 8 2

NN i a6 g

[Cr(en),CL,]® % & feha wepreitar @isha we=it
LS

50. POg ¥ fhaw P-O-P = SuRerd & 2

www.aviral.co.in




51.

52.

53.

54.

55.

MATHEMATICS

Mr. A has six children and atleast one child is a
girl, then probability that Mr. A has 3 boys and
3 girls, is -

(1) = (2) !
63 6
5 1
()1 4) 35
If a, b, c are pth, gth, rth terms of an H.P. and
c

U=

i =(q-0)i +@-p)j +(P- Pk, =—+1+
a b

then:
(1), v are parallel vectors

(2)u, v are orthogonal vectors
3)i.v =1

(4)ii x0 =i + ] +k

The image of the point (1, 2, —1), on the plane

and the

L. . Xebl  y=3  w¥d
containing the line 3 73 T 1
point (0, 7, —=7), is.

I sin’ Osin” 20d0 is equal to -

=3n

3n Sn
Wz @5 O @6n

Minimum distance between the curves
x> +y*+4x+ 16y + 66 =0 and y* = 8x is -
(1) 3/2 units (2) 542 units

(3) 442 —2 units  (4) 442 +2 units

. ) AVIRAL CLASSES
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51.

52.

53.

54.

55.

éﬁﬂﬁAaﬁ‘@:aﬁﬁﬁw@wqmaﬁTa—e{aﬁ
¥, 1 #iHE A & 3 olse A9l 3 siaal 8 i
mﬁW@Tﬁ-

1
(1) o (2) 5

1
(3)ﬁ @ 35
T a, b, ¢ TH TS AT &7 p &, qaf, &l 9

A G =(q-1)j +(-pj+{@- Dk,
5 =opdoe s B4
a b c
(1) i, TR Fiee & |
(2) 1,0 TR T B |
(3)i.o =
@) x0 =1 +] +k

X4l §=3 z+2

Hade, St i@ 5 3 der fag
0,7, -7y TEar g, 4 fag (1, 2, 1)m;rﬁ|ﬁ|w
BTT-

o (353)

o0

jsin1 0sin220d0 SETER 2T -

-3n

E N
(1)m 2) 5 G3) 75 (4) 6m
THEX+ Y +4x+ 16y + 66 =0 TAy?> = 8x &
e RAAH g4 B -
(1) 32 ¥

(3) 442 -2 7T

() 5V2 7
(4) 42 +2 T
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56.

57.

58.

59.

60.

Let f : R = R, f(x) = max. {|tan"'x|, cot™'x}.

Consider the following statements :
I. Function is continuous and derivable Vx € R

T
I1. Range of function is {Z’ TE}

III. f(x) is many one-into.

Identify the correct option -

(1) All 3 statements are wrong.

(2) Exactly one of above statements is correct.
(3) Exactly two of above statements are correct.
(4) All 3 statements are correct.

sin”'(sin 100) + cos™'(cos 100) + tan"'(tan 100)
+ cot™'(cot 100) equals to :

(1) 100-31xn (2) 100 — 32n
(3) 200 - 63n (4) None of these

3 d ;
The solution of y’ x +y—x d_i =0 is

() x4+ 1/5 (xlyy’=C

(2) X35+ (1/4) (y)*=C

Q) (xyy +xY4=C

(4) none of these

The area bounded by the curve y = e* and
the linesy = [x— 11, x = 2 is given by:
(1)er+1

(2) e?-1

(3)e*-2

(4) none

1 2 3
Let A={2 2 ~-1]|and

3 0 k
f(x)=x3—2x2—ax+[3:0.
If A satisfies f(x) = 0, then-
(Hk=1,aa=14 2)a=13,p=22
B3)k=-1,p=22 4 o=-14,p=-22

)| AVIRAL CLASSES

AAAAAAAAAAAAAA

56.

57.

58.

59.

60.

T £ R = R, f(x) = e
{{tan™'x|, cot'x} T 1AM 7 oA B

. 9+t x € R % T3 e Hadq aen eTee-19 e |
[1. e =1 9 E n} B

I, f(x) SEThh-3Ta : &4t e anm |

&t faehea 1 yg=fa -

(1) Gt 3 Y Terd B |

(2) ST FIE H A 3k TH HYT & B
(3) STeRT el | | Stes <1 YT G Em |
(4) 9t 3 Ty T B |

sin'(sin 100) + cos™'(cos 100) + tan'(tan 100)
+ cot™'(cot 100) SR B~

(1) 100 - 31xn (2) 100 — 32
(3) 200 — 63 (4) 378 § FIE 7E

d
¥ X +y-x g =0 T E -

(D) x¥4 +1/5 (xly)’ =C
(2) x°/5 + (1/4) (x/y)*=C
(3) (x/y)’ + x4 =C
(4) =78 9 o
Thy=e qMWy= |x-1|, x=2 g uiEs
&A% B
(I)e*+1
(2) e2-1
(3)e2-2
(4) T8 | FE T
1 2 3
M A=[2 2 -1|@
30 k
f(x)=x3—2x2—ocx+B=0%|
Ifg A, f(x) =0 I T A E, T-
(Hk=1,0o=14 Q) a=13,p=22
(3)k=-1,p=22 (4) a=-14, p=-22
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61.

62.

63.

64.

65.

x—x*+10x-5 , x<I1

Lt Hx) = {27( + log, (b2 - 2) , x>1

the set of values of b for which f(x) has
greatest value at x = 1 is given by :
(1) 1<b<2

(2) b={1, 2}
(3) b e (-, -1)

4) [-V130,~V2 Ju(¥2 130

Let the matrix

10°+5 10°+4 10¥+6
A=[10"+2 10°+7 10"+2n|,

10°+8 10°+4 10" +9
n € N, then

(1) Ais invertible for all n € N

(2) A is not invertible for alln € N

(3) A may or may not be invertible depending
onvalue ofn € N

(4) Data insufficient

I-f‘function y = f(x) s‘;.itrisfy the differential
equation (x? + 1)dy = x(1 — 3xy)dx and

X2

f(0) =0, then ;lcl—l;%f(x) is equal to
(1)o @1
(3)2 (4) 4

Identify the correct statement about
function f(x) = max(x?2 -1, 7—-x2% 5)

(1) f(x) is not differentiable at 4 points
(2) range of f(x) is [3, »)

(3) f(x) is an injective function

(4) f(x) is discontinuous at 4 points.

<«

4 ; H
Let H(x)= (x+l)sint‘3dt,then lim (x)

x—1 x-1

(o

X
equal to -
(1)sin1 (2)—sinl (3) 2sinl (4) 0

AVIRAL CLASSES
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61.

62.

63.

64.

65.

xX*—x+10x-5 , x<1

—2x +log, (b°-2) , x>1

?

A f(x) = {

@b & THE % wY=ag g fd fix) &
x = | W HEwH HH §, 8 ;

(1) 1<b<2
(2) b={1, 2}
(3) be(-w,-1)

(4) [130,~v2 Ju(v2 130 ]

HIHT A8

10* +5
1042
10* +8
neN®,

(1) |4t n e N & o7 A ewmuiia STege 8 |

(2) 9t n € N & fod A vl 3Tee =&l
BT |

(3) SERHITE ST 1 B i Thal & TR A ot
W neN & 39 9 s & |

OEEEE LRSS

10 +6
10" +2n

-

10" +9

10 +4
10 +7
10+ 4

A=

Afg el y = f(x) Tahd THIHLT
(x3+ 1dy =x(1 — 3xy)dxﬁ'{:i§QW%ﬂﬂT
2

F(0)= 0%, lim —— &1 HF 8-
x—0 f(x)

(1) 0 @)1

(3) 2 (4) 4

el f(x) = femad (x2 -1, 7— x2, 5) & e
TR 9 ! dgdIg -

(1) f(x) =R forgeil W Aeeherta & &m|

(2) f(x) 1 9RER [3, o0) BN

(3) f(x) Teheh! et BTN |

(4) f(x) =R fargefi T STEad B |
;R .. )

AF H(x)= |(x+1)sint’dt &, @ }clirir

ST B -

(1)sin1  (2) —sinl (3) 2sinl (4) 0
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66.

67.

68.

69.

70.

x® +x% +x

= ; NI dx 1s
(3x +8x +24x)

The integral

equal to-
2/3
(1) g(Bxll +8x% + 24x) +C

)2/3

) —%(3;;8 +8x% +24x)  +C

9 2/3
3) g(axs +8x° +24x)  +C

218
(4) %(3}(8 +8x%° + 24x) +C

(where C is constant of integration)

The equation of normal to the curve
y3 + 2xy + x® = (x — 1)3 at point (1, 1) is -
Dbx+y=4 (2)bx—y=6
B)x+by+4=0 4)x-by=6

Let f(x) = xI(t —1)(t —4)(t —9)dt, then
0

(1) f"(x) = 0 have 4 distinct positive solutions
(2) f"(x) =0 have 2 distinct positive solutions
(3) f™(x) = 0 have 3 distinct positive solutions
(4) f(x) have 6 critical points.

Number of solutions of the equation
2tan'(cos?x) = tan~1(2cosec’x) in [0,5x] is

m, then -
(I)m<1 2)m e {2, 3, 4}
B)m=5 (4)m>5

Let f(x) = min{sin~x, cos~!x}, then area
bounded by f(x) and x-axis is -

1) V2 @ V2 +1
1
®) 5 4) V2 -1

“%\| AVIRAL CLASSES
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66.

67.

68.

69.

70.

_[ X8 +X3 +X Js
(3x“ +8x% 4+ 24x* )“3

R BT -

213
(1) %(33(11 +8x% + 24x) +C

213
) —%(3;;3 +8x3+24x]  +C
2/3
(3) %(3}(8 +8x3 + 24x) +C

(4) %(3){8 +8x° +24x)2[3 +C

(STel C wHIher o1 o B)

THyl+2xy +x3=(x- 1P BTG (1, -1) W
atfurerear a1 HHiHToT 2T -

(bx+y=4 2)5x—-y=6
B)x+b6y+4=0 (4)x-by=6

| f(x) = xj (t—1)(t —4)(t —9)dt &, -

0
(1) f'(x) = 0 & =R f9=1 TeHe & 8l |
(2) f(x) = 0% < T4 s & Ehl |
(3) f"(x) =0 o+ =1 eTeee &t el |
(4) f(x) & B: SHifde &g &l |

S [0,57] H THIRO
2tan~(cos?x) = tan—'(2cosec®x) & TEl H
T m _E?f, Tl -

Om<1 @) m e 2,3, 4
B)m=5 4)m=>5
A f(x) = =AaH{sin~1x, cos™1x} B, T f(x) T
x-3T8 GRI Gieig &5hel 8T -
1) V2 @) V2 +1

1
®) 75 @) V2-1

www.aviral.co.in




INTEGER TYPE

71.

The order of the differential equation whose general solution

X+Cg5
s

is given by y=(c;+cy) cos(x+cg)-cqe where

¢1, €9, Cs, C4, C5 are arbitrary constants, is

2 \2 1/2
72. The differential equation [%) —(—] =y has the

degree

/4 L
73. The value of the integral Io ﬂdx equals

sin x cos x

74. Let f(x)=x-[x], for every real number x, where [x] is

1
the integral part of x. Then L f(x)dx =

2

r sec? tdt
o

75. Thevalue of lim|=&—— | is
x—0 Xsinx
\|AVIRALCLASSES |

CREATING SCHOLARS

Iy

71. s@da WHHRT AT @UE T y=(c,+¢y)

cos(x +c3) —c e B, WEI ¢, Cg, C3, Cg, C5 TS I E,
DI PIfe BRfY

d2 2 d 1/2
TZ.WWUT(—V] _[Ey} —y A um

4 Jtanx

sin x cos x

73.WL"/ dx &7 AF

74. 71 it arfae wwet x & R f(x) = x - [x] 8, SR x
BT QUi AT [x] ¥ 1 T flf(x)dx T 7 B

x2 9
J. sec“tdt
0

xsin x

75.

lim BT A &

x—0
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